[ normalized x? probability |

Entries
Mean
Std Dev

Entries
Mean

6 8 10 12 14 16 18 20
2

OTTgMaT STEp. PTIO00 SraIpahe
I_pixelCPETemplate_step2 _pt1000 e|a1p4101[)6
_pixelCPETemplateCutChiSquarel0_step2__pt1000_etalp4tolp6
_pixelCPETemplateCutChiSquarel5_step2__pt1000_etalp4tolp6
_pixelCPETemplateCutChiSquare20_step2__pt1000_etalp4tolp6

pixelCPETemplateCutChiSquare30_step2__pt1000_etalp4tolp6

>

< X2/ ndf >

Ratio

< X2/ ndf >
< X2/ ndf >
-
o]

[y
o))

=
IS

1.2

iy

Ratio




	Contents
	Page 1


